Problem 2—Ladders

Whil e hurrying home for an intimate dinner with hisfiancéelris West, poli ce scientist Barry Allen notices two
laddersin an all ey through which heisrunning. The base of each ladder rests against a buil ding; the top rests
against the buil ding on the opposite side of the alley. The base of each ladder rests against the same buil ding asthe
top of the other ladder, so that they form a crude “X.”

After some quick thought, Barry reali zes that if he knows the height of the aosgng point of the ladders as well as
the length of the ladders, he has enough information to compute the width of the alley. Although Barryisawhiz a
high-speed mental arithmetic, he would appredate some mmputer assstance Given the height of the aossng point
and the length of the two ladders, how wideisthe all ey?

INPUT SPECIFICATION. Each data case wmnsists of aline of threepositive floating pointing numbers separated
by exactly one space  Thefirst two numbers are the lengths of the laddersin fed; the last number is the height of
the @osdng point in fed. Thelineisterminated by <EOLN>. Following thelast data case will bealine mnsisting
of threezeroes. Thislineisnot to be processed; it merely signifies the end of the input.

OUTPUT SPECIFICATION. Theoutput cases sould appear in the same order astheir respedive input cases.
The output should be in the format “Case ¢ Thealleyisx fed across” C isthe @ase number; x isthewidth in fee
of the all ey to the nearest thousandth of a foat, printed with threedigits foll owing the dedmal point. It is possble
that one or more input cases contain ladder lengths and crossng points that do not yield a solution. In such a
situation, your program should print “Case ¢ Barry mismeasured.” Again, cisthe ase number. Each output case
should be foll owed by exactly one <EOL N>.

SAMPLE INPUT.

10-10-3 <EOLN>
10-20-30 <EOLN>
0-0-0 <EOLN>
<EOF>

SAMPLE OUTPUT.

Case-1:-The-alley-is-8.000-feet-across. <EOLN>
Case-2:-Barry-mismeasured. <EOLN>
<EOF>



